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Instructions to the Candidates

. Balore you statt to answer the queslions you must check up this

booklet and ensure that it contalng alt lho pages {1-24) and soo thal no
page or porlion thoroaf Is missing or repsated. Candidales aro also
required to check that thay have got the right quostion book sirlctly
from the stream candidate has applled for io.. Computer Scionce/
Englngaring Part OR Information Technology Part OR Elestronics and
Communicatlon/ Telocommunicatlon Part . If you lind any defectin this
Bookist, you must gat it repiaced immadiately.

Youwill be supplted the OMA Answer-Sheet separately bi the lovigilator,
Road lhe |nstructions printod on OMRA Answer Shoot caralully before
filing the information on Ihe OMR Answer Shaol. You must completo
ang coda lhe dolails as par 1he Instructiong givan In tho OMBA Answer

" Sheet carefully. You must also put your signaturo on the QMR Answar-

Shaot at tho proscribad place befors you actually slart answering the
questlons. These inslrustions must bo fully complisd wilh, failing which,
your Answer-Shoot wit not be evaluated. (For V.H. candidates these
datails will be filted in by the seribe. However, all V.H. candldates must
pul thalr lelt-Hand thumb Empression at the space provided in the OMA
Answor-Sheet. In addition, those V.H. cindidates who can sign shauld
also put their signaturas in addition to thumb imprassion }

This booklat conslats of 128 Multiple cholee questona {Section A and
Soctlon B both contains 60 guestions oach}. Each question has 4 {lour}

- alfernalivas AJ, BY, C); and 0. In any Gase only one alternative will bd the

corect answir. In case I you lind more than ana cofrect answer, than
choose the most appropiiate single opllon and darken the appropriato
clrcle in the answer sheet In front of tha ratatad _quasllon_, '
Foradch conast answar Oing fark wilt be given and for sach incorrect
answer 0.25 marks wlll badi_aduct_ed. TR
Candidate has o altempt both Secllons campulsorily, ™

Use Black/Blug ball peint Pon to darken the circle. Answer ohco darkenod
is not allowad to be erasad or aiterad. Agalnst any question il moro than
one circle Is darkened, magching will allot zere mark for that question,

Do not fold Ariswer Sheat in any cage.

Mo rough work is to ba dang on the Answer Sheol. Spac for rough work
has been providad in this booklol.

Mobile phongs and wireloss communication devicgs arg complatoly
banned in Ihe exarination hall / reoms. Candldates arg advised notto keep
mobilo phonas / any other wirelass communication devices with them aven
switching Itoff, in their own intergst. Failing lo comply with this provision wil
beo constdered as using unlalr means in the examination and action will be
taken against them including cancellation of their candidature.

.. Candldate shatld not loave the examinalion halifroom without handing
" ‘over hisfiar Answer sheet to the invigilator and withaut signing on the

altendance shaet, Failing in doing su, will amount to disqualilication.
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Choose the most appropriate option.

1.

What is the maximum number of distinct
handshakes that can happen in the room
with 5 people init ?

A) 16
B) 10
ae
;s .

" A train running at the speed of 60 km/hr
- ¢rosses a pole in 9 seconds. What is the

length of the train ? :_- o

A) 120 metkes -
" B) 180 metres

Cys2amewes
‘D) 150 metres =

' an article for Rs. 1,920 is equal to the | -

percentage Ioss mcurred by selhng the i .
same article for Rs. 1,280. At what price |
_ shoutd the article be sold to make 25%.

profit 2 - o '

 A) Rs.2,000 -

B) Rs. 2,200
C) Rs. 2,400°

. D) Data madequate

. SECTION - A
- GENERAL APTITUDE
4.

VAN BT

- A boatman goes 2 km against the current

of the stream in 1 hour and goes 1 km along
the current in 10 minutes. How tong‘-wil! it
take to go 5 kmin statlonary water ?-

A) 40 minutes o

B) 1hour

- C) 1hr15rh|n

D) 1 hr30 min_

-_'The present ages of three perscms in
. propottions 4 : 7 9. Erght years ago, the

sumof their ages was 56. Find their present
ages (|n years) - T

- A) 8,20,28

B) 16,28,36
-'.0)203545 AN
. 'D) None of the above“eb:t:ib:néx

S A tank is fllted by three plpes wnh unlform
. The percentage profit earned by seling |

flow.- The first two' p!pes operatmg_

" smuitaneouslyml the tank in the same time
dunng which the tank is filled by the third

- pipe alone. The second plpe Tills the: tank

5 hours faster than the first pipe and 4 hours

" slower than the third pipe. The time reqwred
by the fll’St p!pe |s L

A} 6 hours
B) 10 hours . . -

. C) 15 hours

D) 4 hours R

SPACE FOFI ROUGH WORK
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A rectangular field is to be fenced on three
" sides leaving a Side of 20 feet uncovered.

It the area of the field is 680 sq. feet, how
many feet of fencing will be required ?

A) 34 o

B) 40

C) 68

D8

. In how many different ways can the letters

of the word 'CORPORATION' be
arranged so that the vowels always come
together ? B

A) 810

B) 1440 -
C) 2880

D) 50400- SV

Seats for Mathematics, Physics and
Biology in a school are inthe ratioof5:7: 8.

. - Thereis a proposal toincrease these seats
- by 40%, 50% and 75% respectively. What
- will be the ratio of increased seats ?

Ay 2:3:4.
B)6:7:8
C)6:8:9

D) None of the above options |

EC&ET
10. A flagstaff 17.6 m high casts a shadow of
~ jength 40.25 m. The height of the building,

which casts a shadow of length 28.76 m
under similar condition wili be

A) 10m
- B) 126m
C) 17.56m
D) 21.25m

Find the odd one in the following series for
Q. 1tandt2:.

11. 396,462,572, 427,671,264
A) 396 o
B) 427
C) 671
D) 264

12. 2,5,610,17,26,37,50,64 =
B) 26
C) 37
D) 64

. 13.. The difference between: simple and
. compound interests compounded annually

on a certain sum of rﬁoney for 2 years at
4% per annum s Re. 1. The sum_(in Rs.)is
A) 625 o _
B) 630
C) 640 g . o
pyeso .

SPACE FOR ROUGH WORK
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- 14,
. - the length of the shadow of atree is 3
- times the height of the tree, is

15.

16.

17

The angle of elevation of the sun, when

A) 30°
B) 45°
C) 60°
D) 90°

Let N be the greatest number that wili divide
1305, 4665 and 6905, leaving the same
remainder in each case. Then sum of the

¢ digitsin Nis

o
B) 5
C) 6
D)8 .

The study of fossils is known as
A) Ethnology

B) Palaeontology

C) Synecology

D} Ombrology

Who has been elected as the President of

- Cricket Assocnation of Bengal (CAB) in
20157 '

A) Sourav Gangury?' o

8) Anil Kumbie
C) Sunit Gavaskar
D) Mohd. Azharuddin

18,

19,

» 20.

21-

A

Which company committed to invest $150
million forthe Indian Startups during the Indian

Prime Mtnlster s Sept 201 5 us tnp ?

A) Oualcomm N
B) Yahoo

C) Google

D) Microsoft

What is the name of the S_é_cond Guided
Missile Destroyer which has been
commissioned into Indian Navy recently ?
B) INS Kochi

C) INS Kolkata =~

D) INS Mumbai

Which cities hosted South-Asian Games
in January 2016 7

A} Bhopal and Jaipur =
B) Mumbai and Kolkata
C) New Delhi and Pune

‘D) Guwahatiand Shillong

. Which Country.is poised o become the third
. largest buyer of commercial passenger

planes in the world with only the US and
China ahead of it ?

A) France

B) India

C) Germany ‘L

D) None of the above opi:ons -

SPACE FOR ROUGH WORK
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22,

Which city is being developed as the new

. capttai of current state of Andhra Pradesh ?

23,

24,

25,

- A) Hyderabad

B) Amaravati
C) Vashakhapatnam .
D) None of the above optlons

Garampani sanctuary is located at
A} Junagarh, Gujarat
B) Diphu, Assam =~

" C) Kohima, Nagaland

D) Gangtok, Sikkim |

Ashoka's ‘Dhamma’ or ‘Law of Piety’
A) had the essence of all religions

B) was a revolt against inefficiency in the

Budghist Sangha _
C) was a new religion which he founded
after the Kalinga War

D) laid emphasis on following a strict set
‘of rituals

Which two countries have voted against
a Feb. 2017 UN resolution to impose
sanctions against Syria over 1ts aileged

 use of chemical weapons ?

A) US and Russia
B) US and France
C) Russia and China
D)} France and China

26..

27.

28.

EC&ET

Which country has recently unveiled a

- project dubbed “Mars211?” under which it

aims to establish the first inhabitable
human settiement on ptanet Mars by year
211772

A) China

B) Japan

C) UAE

D} South Korea

Daniel Ortega has been sworn in for a third

consecutive term as President of whlch
Central American Country 2

A} Costa Rica
B} Honduras
C) Nicaragua
D) El Salvador

Which among the following airports has

‘claimed that it has become the first

aerodrome in the world to adopt unique

- performance and benchmarking digital

platform, Arc, which helps in tracking and

- - monitoring building performance ?
“ A) Indira Gandhllnternailonai (EGE)Aarport

Dethi

B) Babasaheb Ambedkar international
Airport, Nagpur

C) Sardar Vallabhbhai Patel International
Airport, Anmedabad

D) Lokpriya Gopinath Bordoloi Intemational
Airport, Guwahati

SPACE FOR ROUGH WORK
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29, " “Socialist’, “Seculas”, “Unity and Integrity | 82. Vincent hias a paper route. Each morning,
-7 of the Nation” {to replace only “Unity of  he delivers 37 newspapers 1o customers
- the Nation™}, were added in the Preamble in his neighborhood. It takes Vincent
- as per which Amendment to the Indian 50 minutes to deliver ali the papers. If
- Constitution ? Vincent is sick or has other plans, his friend
o R Thomas, who livés on the same street, will
A) Thirty eighth Amendr.n.\?nt 1978 sometimes deliver the papers for him.
B8) Forty second Amendment 1976 From the above data, which of the foilowmg
C) Thirty first Amendment 1973 - statements must be true 7 ' |
o A) Vincent and Thomas five in the'same
D) Forty fourth Amendment 1978 netghborhood |
o | B) It takes Thomas more than 50 minutes
30, Wh;ch Nahon worni Dav:s Cup in 2016 ? to dellver the papers
A) Sw:tzerian d C) ltis dark outside when Vmcent begins
his deliveries
B} Spain . D) Thomas would fike to have his own
C) Argenti'na ' .. . paperroute |
D) England L
33. Which number pair comes next in the
R : Loy - series. 7.
R AT Y The hotei is two biocks east of the 4 7 2610 13 20 16
.__drugstore - .- CAY t4 4 . .
~ 2...The market is one blook west of the y _
.. hotel B) 14 V7
3. The drugstore is. west 02‘ the market. _ C) 18 14
If the first two statements are true, the third D)--'19 A4 e
statement is SRR I I
CAY Trie T T S 34 Which word does not belong with the
_ PRI others 7
B) False.... .. .. . A) Cormnea
C) Unceitain . B) Retina
A AL C) Vision -
D) Insufficientdata ™~ - D) Pupil
SPACE FOR HOUGH WORK
A -6-




AR G A EC&ET
_3_51_ Complete the miss.l.ng element Of the .| 38 Applyingfor Seasonal Employment occurs
fol!owmg senes when a person reguests o be considered
- ' I for a job that is dependent on a particutar
EmE i mmm 1 EL..LJ E i L 2 Li;'l season of time of year. Which situation
m E‘_ L U ) 5: - __ below is the best example of Applying for
Seasonal Employment 7~
(1) (2) (3) (4) o
A) 1 A) The Ski instructors at Top of the Peak
| Ski School work from December
B) 2 through March B
)3 _ B) Matthew prefers jobs that aliow him to
outd
D) 4 | work outdoors. \
C) Lucmda makes an appo;ntment with the
36. JAK, KBL, LCM, MDN, beach resort restaurant manager to
~ interview for the summer, waitressing
A) OEP " g y .
_ position that was advertised in the
B} NEO newspaper
C) MEN _ D) Doug's ice cream shop stays open until
oo 11 p.m. during the summer months
D) PFQ S
- ST TR . 39, QAR, RAS, SAT, TAU,
37. FAG, GAF, HA}, iAH, '
' . A) UAV
- A) JAK )
B HAL. %) UAT
C) HAK C) TAS
D) JAl D} TAT
SPACE FOR ROUGH WORK
A -7- SC-B
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4. If 43. - Two students appeared at an examination.
- gorbiflur means fan belt One of them securaed 9 marks more than
xnaorbl ns ceiing fan the other and his marks were 56% of the
pixngorbi means ceting fa sum of their-marks. The marks obtamed
anthtust means tileroof - by them are _
. “ HH ] H 9
Which word could mean “ceiling tile” A) 39, 30
A) gorbltus! B) 41,32
B) flurgorpi _. C) 42,33
©) arnflur D) 43,34
D} pixparth
_ 44. Find the number of mangles m the given
41, The town of Paranda is located on Green figure.
Lake. The town of Akram is West of
Paranda. Tokbada is East of Akram but
" West of Paranda. Kokran is East of Bopri
but West of Tokhada and Akram, If they | A) 8
are all in the same district, which town is | g; Ig
_ y 0
the farthest West 7 D) 14
A) Paranda
S 45. Choose a figure which would most closely
B) Kokran
) DR resemble the unfolded form of Flgure ).
C) Akram ; :
D) Bopri .
42. Getodd one out. é}}"g E\Ejig . SE?
A) YwU
(1) (2) (3)
B) NLJ A) 1 _
C) KiF B) 2
B C) 3
B) VIR - D)4
SPACE FOR ROUGH WORK
A 'SC-B
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Each of questions 46 to 50 are based onthe
information given below : -

8.persons £, £, G, H, I K and L are seated |

around a square table - two on each side.

There are 3 ladies who are not seated nextto each |

other.

J is between L and F: .
Gisbetwegenland . . = .

H, a lady member is second o the left of J.

F, a male member is seated opposde to E, alady "

member.
There is a e'ady member between F-" and f‘

49,

50._"

46, Whoamongthefotlowmg|stothelmmed|ate L

left of F 7

A) G

BYV
o) H

47. Whatis true about J and K ?
AY J i_s male, Kis female
B} Jis female, Kis male
C) Both are fermaie -
D) Both are male

48. How many persons are seated between
Kand 7

A) 1
B) 2

C)3
D) 4

" the options given below to complete the

A) somewh'at_'

Who among the foliowmg are three Iady

'members? 5
A) E; HandJ

B) E, f—"and G
C) E HandG 'f' R
D) C. H’éhd:J_ .

Who among the foilowmg is seated between
EandH‘? :

AF o
o
C) K.

B D) Cannot be determmed

Choose the most e.'pﬁreﬁr:iét'e; words from

following sentence :
Female sparrows and immatures are

while the typical aduh‘ male sparrow is

by its markings: a black bib, a grey
cap, and white lines. tra;hng down from the
'riohde'se'r'ipt, easily
recognized - - e
B) difficult to spot, better camouflaged
C) cons&dered to be endangered
characterized .

D) comparatwely smalt made more
consplcuous

SPACE FOR ROUGH WORK"
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52.

53.

Find the best correction for the underlined

“sentence from the four ophons given below;

Under a provision of the Constitition that

never i ngress h nl

requirgd to call a convention for considering
possible amendments 1o the document |
when_formally asked to do it by the |

legistatures of two-thirds of the states.

A) was never applied, Congress has been |
required to call a convention for |

considering possible amendments to the
document when formally asked to do it

'B") ‘was never applied, there has been a |

requirement that Congress call a

convention for consideration of possible |-
amendments to the document when

asked to do it formally

C)} has never been applied, whereby |
Congress is required to call a convention |
to consider possible amendments to |
the document when formally asked to |

do so

54.

D} has never been applied, Congress is |- -

~ required to call a convention to consider |

possible amendmients to the document
when formally asked to do so

_ Statement : Should alt the drugs patented
- and manufactured in Western countries be |-
first tried out on sample basis before giving |

license for sale to generai public in India?
Arguments

I. Yes. Many such drugs requwe different |
indian |

doses and duration for-

population and hence it is necessary.

. No. This is just not feasible and hence
“cannot be implemented.

.. Choose from the following :
A) Only argument | is strong

B) Only argument |l is strong
C) Either | or li is strong
D} Nelther Inorilis strong -

56,

IR

A Huge majority - 84 percent - of the
population identifies as Hindu. There are
many variations of Hinduism, and four
predominant sects - Shaiva, Vaishnava,

- Shakteya and Smarta. About 13 percent

of Indians are Muslim, making it one of the
largest Islamic nations in the world.
Christians and Sikhs make up a small
percentage of the population, and there are
even fewer Buddhists and Jains.

The passage best supports the statement
that -

A) Cuiture Traditions and Customs of
[India are diverse

B) India is known as a multilingual country

C) India is identified as the birthplace of
Hinduism and Buddhism

[)! India is a country where di'versity'in
religion exists

Choose the appropriate answer to

complete the following sentence :

To those of us who had aiways thought
him t:m_ad his came asasurpnse

A). inability
B) inevitability

cy Entrepidity. |

D) inertness

SPACE FOR ROUGH WORK
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statements is correct 7 - .. -

A) Y is married to C who is an éngineer
B) Zis married to C who i is a doctor

C) Xis married to a doctor N

D) None of the above Optlons ":

57. Armange sentencesA B, CandD between
sentences 1 and 6, to form.a logical
sequence. of six sentences.

the various measures and changes
introduced since July 1991,

A} There is a common thread running
through all these measures -

B) The objective is simple - to improve
the efficiency of the system.

C) The regulatory mechanism involving
multitude of controls has fragmented
the capacity and reduced competition
even in the private sector,

D) The thrust of the new policy is towards
¢creating a more competitive

the productivity and efficiency of the
gconomy.

6. Thisis to be activated by removing the
barriers and restrictions on the entry
and growth of firms.

A) DCAB B) ABCD
C) BDAC D) DCBA

-_"Three ladies X, Y and Z marry three men |-
.. A, Band C. X is married to A, Y is not .
married to an engineer, Z is not martied to |
a doctor, Cis nota doctorand Alis a lawyer. |
Only monocgamous relationships are |
permitted. Then which of the following || .

1. The new economic pohcy compr:ses _

environment as a means to improving {.

58.

59.

60.

EC&ET

Correct the underlined part of the sentence

* by choosing the correct option.

Bombast is when high sounding words for
effect. not suitability, are used.

A) is whéﬁ high sounding words for effect,
not suitability, are used

B) is the use of high-sounding words for
effect rather than for suitability

C) is where high-sounding words are used
for effect not suitability '

D) is the using of high-sounding words for
effect only

Pick the word from the four options which
is most nearly opposite in meaning to the
boid word. '
RECALCITRANT

A) feckless B) yielding

C) sombre D) polished

The question below consists of a pair of
retated words followed by four pairs of

words. Select the pair that best expresses
the relahon in the orrgmat pair.

QUISL!NG : BETRAY

A) taunt : proVoké
B) inception terminaﬁon‘
C) juggernaut : crush

D) obstinate : preserve

SPACE FOR ROUGH WORK
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o . - SECTION - B s
ELECTHONICS AND commumcmmwewcmomcs AND TELECOMMUNICAT!ON

Choose the most appmpnate option.

61. What is another name for one-shot
.. mu?tlwbramr?
A) Monostable -
B) Astable
C) Bistable -

D) Noné of the above options

62. What is one disadvantage of an §-R
flip-fiop ?
A) Ithas no Enable input
B) it has a RACE cendition o

i
g N

G}, Ithas no clock input

D} Hthas single output .

63. In two's complement system, add the
signed numbers 11110010 and 11110011.
Determine, in'decimal, the sign and value
of each number and their sum.

A) —14and -13; - 27
B) -183and-12,-25 _
C) - 27 and ~13; — 40

DY -2and~3;,-5

64.

AUREAIRA Fic

A 4=—b|t- R/2R digital-to-analog (DAC)
converter has a reference of 5 volts.
What is the analog output for the input
code 0101 ?
A} 0.3128V
B) 3125V
C) o.78t26v _
D) None of the above options
65. Inthe circuit shown below, switch S is open
for a long time and is closed at £ = 0. The
value of current i{t) when t— oo is
10Q
e
154 (D) §1on 15 mH
A) 0.9A
C) 03A
66. Consider a unity feedback controi system

with open-loop transfer function
K
s(s+1)
The steady state error of the system due
to a unity step input is.
A) Zero B) K
C) 1K D) Infinite.

G(s) =

SPACE FOR ROUGH WORK
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g7, Match the application to- apprOpnate -68.  The ampiifier circuit shown below uses a
numerical methad. sificon transistor. The capacitors C, and
S Ce can be assumed to be short at signal
Application Numerical Method | frequency .and the effect of output
- : resistance ry can be ignored. )t Cg is
P11 Numerical Mi:Newton-| disconnected from the circuit, which one
~ integration Raphson of the following statements is TRUE ?
_ Method _ _
P2 Solutiontoa M2 : Runge-Kutta |- V=°_"9V._'-_._ ._
Transcendental Method ) '
: ° E,..sst:uom Ro=27kQ
equation _ »M'-Vo
P3: Solutiontoa . M3: Simpson's = 100°¢ ..
~ system of tinear 1/3 rule e
equations o f =03 KO-
P4: Solutiontoa M4 Gauss i
differential Elimination i
equation o 3 Mgthod " A) The input resistance FI,' increases and
A) P1—M3, P2 - M2, P3_ M4, P4 ~ M1 voltage gain A, decreases -
B) P1- M3, P2 ~ M1. P3 - M4, P4 — M2 B} The input resistance R, decreases and
o o ] voitage gamA mcreases '
C) P1= M4, P2~ Mt, P3~M3, P4-M2
By P1 - M2, P2~ M1 P3— M C) Both input remstance H and voltage
| ) P1- X 2- 1'_ 3-M3, P4 - M4 - gain A, decreases |
68. For o =-1 the value of V.. s D) Both input resistance R, and voltage
' 2 gain A increases
R,
< . .
W L A . 70. The value of X in the express on gwen
. . . i
v tyal, W
A | t?ﬂz ?m 2 below is (2)3 (3 )4_(X)5: -
° A) & |
A) e B) 11
B) O
C) V, O, e
D) None of the above options Dyt
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71.. The transfer function C{syR(s)intheblock | 74... A two port network is described by the
~ diagram shown bejow is.. : ' relation o
et o ;=
f_l,(&_,i _ G .. _Gz i) .-.-:V‘. ...:211:.:+T_.3V2
Then Z-parameter of such network is
GG, 28
A) 1+GG, A -12]
B) G,G,+ G, + 1 a5 1'5_1
C) GG+ G, + 1 . L
) SR e 8) 0.5 0.5}
D) 1566, o |2 a7t
- : ) _'—T 2 o
72, If the characteristic equation of a closed | -
too;t) system is 52 + 2s + 2, then the | 0)35 1‘5"
- system is .
A) overdamped - . 05 05
B) critically damped _
C) underdamped T o ' S
D) undamped 76.  Find Y in the circuit below where f;, L and f
ST : g:ven as _ _
73. Thefoltowmgc:rcuutcan be represented as | '
' L(C, D)- Z(O 1, 2, 3), f2(A B,C, D)=
%0, 1,2 856 9), LA B, C D)=
(4,7,8, 10, 11, 12, 13, 14, 15)
£ ' o
e .
f 1 D
A) fA,B,C)=C - AT,
B)f(ABC)—Z(O1256?) B) 1,
C) fA,B,C)= 2.(0,2,4,6) C)o
D} None of the above options D) (0, 1,2, 3 5, 6, 9)" o

SPACE FOR: ROUGH WORK-
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76. Fot real values of x, the minimumvaiue of | 79, For static electric and _mag_het_ic fields in
- (%) given by exp (X} + exp (—~ X) is an homogenous source-free medium,
A) 2 o Co which of the foilowing represents the
B) 1 ’ correct form of Maxwell’s equations ?
c) 05 A) VE =0, vxB=0
D) 0 B) VE “WTO-' vB =0
C) vxE=0,vxB=0
77. The prbbabilitydensityfunction of arandom | D) vx E=0, vB =0
variable x is as shown
80. Rank of theé matrix given below is
+P(X) L :
1t 4 5 3| .
; , 4 16 20 12| .
/E \ N -1 =4 B 8|
-3 -2 : 2 3 X— o
AYS By 2
The value of A shown iri the figure is 1 D)4 y
A) 1/3 : o :
B) 1/4 81. The resolution of a 4-bit counting ADC is
o 1 0.5 volts. For an analog input of 6.6 voits,
) 5'_ : the digital output of the ADC willbe
D) 1/6 g
A) 1011 B) 1000
C) 1100 D) 1110
78. An 8 ievel encoding scheme is used in a | | o ;
PCM system of 10 kHz channel BW. The [ 82,  The4-point Discrete Fourier Transform (DFT)
channel capacity is of a discrete time sequence (1, 0, 2, 3} is.
A) 80 kbps A) [0, -2+2j, 2, ~2-2]]
B) 60 kbps o B) [2,2+2], 6, 2-2]} -
C) 30 kbps: C) 16, 1-3j, 2, 1+3]
D) 18 kbps | D) [6,~1+3}, 0, ~1-3]]
SPACE FOR ROUGH WORK
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83.  The distance between target and radaris | ~ 86- i;thé'megno'ry fh?s.ize '?‘SQ.S%X 1 bi!sl,(tﬁ'én
) o e number of chips required to make up
reduced to half. Power received is 1 KB (1024) bytes of memory is
A) decreased by 16 times A) 32 B) 24

B) 'déc';reased_'bi; 4 times C) 12 0).8 -
C) increased by 4 times S

D) increased by 16 times 87. The common emitter model is shown below

L 30 50 C
84. The Causal system given by - | o8l 10 oo
Hz)=6+ z71~z2is v v, <¢> T v,
A) maximum phase ) LU
B) minimum phase ) - )
C) mixed phase o o The h—parameter's__ of this model are
D) none of the above Opt;ons : A). 088 025] » 058 1]
85, The Thevenin impedance Zy, between the : s o8], 5 0.8
nodes Pand Q in the circuit is - Cy 1 ' 0'25i| D) - 1 ]

- 88, In the following limiter circuit, an input
voitage V, = 10 sin 100 7t applied. Assume
that the diode drop is 0.7 V when it is
forward biased. The Zener breakdown

voltage is 6.8 V.
B‘1+$+1._:. - S
c) 24541 ° -
s The maximum and minimum values of the
e S output voitage respectively are
s°+s+1
d L ; A) 61V,~07V  B) 07V,~75V
st +28+1 C) 75V,~07V D) 75V,-75V "
SPACE FOR ROUGH WORK '
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‘g0, Four signals my (b= cos (%t), 92. Following figure repfefir:;s
my(t)= 0.5c0s (mpt). ma(t)= 2008 (cuot)
and m(t)= cos (4w,t) are_multip!_exed by
Time Division Multiplexirig system. The
commutator speed is
A) 2f
B) 3f, =
0 & NN ) X0
D =
D) 8f ) ) o
' - - 93. For paraltel RLC circuit, which one of the’
90. The feedback control system shown in following statements is NOT correct 7
figure is stable for values of Kand T A) The bandwidth of the circuit decreases
o ' if R is increased
: - B) The bandwidth of the circuit remains
RGBS K(1+Ts) o C(s) same if L is increased
_ s(1+25) r C) Atresonance, inputimpedance is a real
quantity
. D) At resonance, the magnitude of mput
impedance attains its minimum value
A) K<0, T>-1 . - -
B) K>0,T>0 . 94. The expsfessllon' for resonar.}t frequency wg
for the circuit given below is
C)K>0,T> -1 - L
D) K<0,T>0 e —
' ' |+
91. A A/diong high frequency transmission line C
is terminated into one impedance Zg. It Z, 1 h
be the characteristic impedance of the line, Ay ’\[=’
then input impedance Z, is
_ _ - ﬁz
A) ZZ. B8) Tx
2
B) 22./Z, H2
C) 22/Z, C) JL_
D) Infinity : D) None of the above optlons
SPACE FOR ROUGH WORK
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95, For function f(1) given below
Rl AR P 3s+1
Roy=t [33 + 48" + K - 3)3]

Eind the value of K, it i{n}zﬂ ft)=1.

B) 2
D) 4

A 4
Cy 3

96. Find i;(f)for t>0

A) 2.5 2502
B) 2.5 - 1.266%
C) 1.25-1.256 %

D) None of the above options

97 Which of the following terms are equivalent ?
Y HyA@B®C  229AS8BOC
3 AGB®C HAGBOC

A) 1and4;2and3
B} tand3

C) 2and 3

D) 1,2and 4

98,

99.

100.

I

The Fourier transform of a double sigi__ed
exponential function 3" is

2
) Wi

B) 1+ 46

C) ,AW_

D)

A uniform plane magnetic wave incident
normally on a plane surface of a dielectric
material is reflected and the percentage of
reflected power is 64%, What is VSWR ?

A) 9
B) 6.4
C) 0.8
D) 1

A communication- channel with- AWGN
operating at a signal tonoise ratio SNR >> 1

" and bandwidth B has capacity: C,. if the

'SNRis doubled keeping B constant, the

- resulting capacity C, is given by -

A) C, ~ 2C,

B) G, ~ C,+B
C) C, ~ C, +2B
D) C, ~ C, +0.3B

------ . Sus o SPACE FOR ROUGH WORK
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tn the interconnection of ideal sources

-101.. - For the asymptotic Bode magnitude: plot | 104.
.. shown below, the system transfer function shown in the figure, it is known that the 60V
can be source is absorbing power.
o 20V
) N
P 40
P +
: ) Heov
] _ 12A
= . R N
0laoot Ot 10 1000 ﬁ" g
108 +1 )
AY TS Which of the following can be the value of the
current source with least absorbing power ?
1005 +1 A) 10 B) 13.
B) Gs+1 -
: C) 15 D) 18
1008 ' o e
C) 15571 105. In a JK flip-flop, Jis connected to O and
K is connected to Q outputs. The JK FF
D) O.1s+1 converts into a
10s+1
R A} RS FF
102. A certain JK FF has t,, = 12 nsec. The. B) D FF
_Iargest MO_D number of ripple counter that- C) TFF
- can be constructed from these FFs and | D) Clocked RS FF . . -
" still operate up to 10 MHz is T
A) 12 : B) 8 106. The input and output of a continuous time
C) 256 D10  system are respectively denoted by x(t)
ol and y(t). Which of the following descriptions
103. The open-loop DC gain of a unity negative correspond fo a casual system?
feedback system with closed-loop transfer A) y(t) = x(t—~2) + x(t + 4)
function (s+4)/(s? +7s+13) is B) y(t) = (t - 4)x(t + 1)
A) 413 B) 4/9 C) yl=(t + dxt— 1) |
C) 4 D) 13- | D) yt)=(t + B)x(t+5y
SPACE FOR ROUGH WORK
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107.

108.

<

it the function X, Yare X =R + P'Q + R'S
andY=PQRS+PQR S +PQRS
(where ’ repregent complerment). Which of
the following is true ?

A) X=Y
By X=Y
C) no direct relation between X and Y

D) msuffrcnent data

in 8085, whenever a signal is received at:
TRAP terminal its program execution is:

transferred to a subroutine on address
A} 0000 H

B) 0024 H -

C) 002C H

D) None of the above options _' -

The impulse response hinj of a linear time-
invariant system is given by

u[n+3]+u[n 2] 2u[n 7]

- _The above system is .

A} Stable but not causal-
B) Stable and causal
C) Causal but unstab!e .

D} Unstabie and not causai

110.

M AE M

The JFET in the circuit shown in'figure has

- anlpgg=10mAand V,=~5V. The value

of the resistance R, for a drain current
lhg = 6.4 MA is (select the nearest value)

10V o

A) 156 Q
B) 1500
C) 560 Q

D) 1000 Q

A system descnbed by the fol!owmg
dn‘ferentaal equatlon is smtlaliy at rest
gy, dv
dtz

For input x(f) = 2u(d), the output (1) is

. 2y x(t)

A} (1-2e"+ e2u(h
2e2ulf)
C) (0.5+ et + 1.59“2’)u(t) o

B) (1 + 26~

D) (0.5 +2¢7"+ 26*u(f)

SPACE FOR ROUGH WORK
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112, Compute the value of the expressiongiven | 114.  The system with given transfer fUﬂCUOH
S o - given below will be
befcw where i represents the base of _
. 32 +42* + 2
mber s stem wilt be - H(2) = e 2
o y @) 32°-102+3
9
- - A) causal
z 10) .) o
= B) anticausal =
C) both sided
A) 10 )
o D)} non causal
B) 25
C) 36 . -
118, Consider the frequency modulated signal
D) 44 10 €08(2 .10%) + 5 sin (271.1500t) + 7:5
ot $in{27.1000t) with carrier frequency of |
10%Hz. The modulation index is
113.  In the circuit shown, the power supplied
- by the voltage source is A) 12.5
C) 75
D) s
116. NMOS devices have switching
speeds and on-state resistance:
as compared with PMOS devices.
o _ A) slower, higher
Bysw _
_ L e B} faster, Jower
Cy1ow C) faster, higher
D) 100W D) slower, lower
SPACE FOR ROUGH WORK
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117. Whatis the frequency of pulse atthe points | 149, A Zener diode in the circuit shown has a
C in the circuit ? knee current of 5 mA, and maximum
allowed power dissipation of 300 mW. What
are the minimum and maximum load
obn 18 b imoowl® current (in mA) that can be drawn safely
] Ring J:hb':;m Ripple L from the circuit, keeping the output voltage
23:2 Counter " Counter V, constantat 6 V ?
00
e} 4
A) 3 MHz . v,
d 6V Load .
TV 2
B) 125 KHz "
5 - A) 5,180 B) 5,110 .
C) 10Kz C) 10,55 D) 55,60
D) 1 MHz 120. The circuit shown below employs +ve
feedback and is intended to generate
sinusoidal oscillations,
- R
118.  The Eigen values of A2 where matrix A is WA
defined as a
' : 2
-1 0 0 M TN N _
2 -3 0 | ' > T
1 4 2 o I
o S + Network B{)
- Vilh)
A)_‘-h__g'_‘; e, " _
. O
i -2
B) 1,9 4 If at a frequency f,, feedback factor
_ B(fy = Vi(f} / V,(f) =1/ 6, then to sustain
C) 1,3,-2 oscillation at this frequency is
A) R,= 6R, B) R,= 5R,
D) -1-32 o ~ C)R=R/6 D) R=R/5
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